CBRT - SAO

1.
Which one of the following is the synonym of the word written in capital letters in the sentence ‘The
present linguistic position of India has been summed up in the Constitution, which has scheduled
fifteen major languages of the country: the eleven Indo-Aryan languages consisting of Sanskrit with its
tenfold PROGENY °?

(a) Past

(b) Heritage

(c) Predecessors

(d) Descendants

2.
Which one of the following is the synonym of the word written in capital letters in the sentence
‘Although the importance of a language is not necessarily measured by the number of persons
speaking it, the RELATIVE strength of numbers is not without its significance’?

(@) In relation to

(b) Comparative

(c) Regarding

(d) Required

3.
Which one of the following is the synonym of the word written in capital letters in the sentence ‘The
concept of Indianization, which is one of the keys to the UNDERSTANDING of South-East Asian
cultural history, raises a number of questions which are not at present easy to answer’?

(a) Discernment

(b) Apprehension

(c) Support

(d) Sympathy

4.
Which one of the following is the synonym of the word written in capital letters in the sentence
‘Ancient India acknowledged the importance of the King as one who DISPENSED justice through the
practice of “danda” or punishment’?

(a) Forced

(b) Conferred

(c) Legalized

(d) Distributed

5.
Which one of the following is the synonym of the word written in capital letters in the sentence “Self-
employment schemes and cottage industries like transport services, tailoring, leather works, etc. have
good scope for GENERATING employment opportunities’?

(@) Stirup

(b) Creating

(c) Engendering

(d) Localizing



6.
Which one of the following is the antonym of the word written in capital letters in the sentence ‘The
law guarantees to every person the right to be INFORMED about the grounds of arrest and the right to
bail’?

(@ Uninformed

(b) Hide

(c) Ignorant

(d) Discourage

7.
Which one of the following is the antonym of the word written in capital letters in the sentence
‘Corruption is EMBARGO in any society as the political system matures’?

(a) Distraction

(b) Prohibited

(c) Criticized

(d) Allowed

8.
Which one of the following is the antonym of the word written in capital letters in the sentence
‘Bureaucratic DISCRETION is a necessary part of public administration, yet it has been argued that
corruption frequently takes place in societies where there is considerable discretion for public
officials’?

(@) Inefficiency

(b) Indifference

(c) Powerlessness

(d) Prudence

9.
Which one of the following is the antonym of the word written in capital letters in the sentence
‘Computer ALTERATION of images and the potential for creating computer generated pornography
pose formidable challenges for courts and law enforcement officials’?

(a) Stagnation

(b) Distortion

(c) Mutation

(d) Modification

10.
Which one of the following is the antonym of the word written in capital letters in the sentence ‘Equal
justice for all is a CARDINAL principle on which the entire system of administration of justice is
based’?

(@) Unwelcome

(b) Undesirable

(¢) Unimportant

(d) Unformidable



11.
Which one of the following parts of the sentence ‘Only two of the ancient sciences of India continues
as effective elements in the life of the country: the Hindu “Ayurveda” and the Perso-Islamic “Unani” ’,
has an error?

(@) Only two of the ancient sciences

(b) of India continues as effective elements in the life of the country

(c) the Hindu “Ayurveda” and the Perso-Islamic “Unani”

(d) no error

12.
Which one of the following parts of the sentence ‘“Though India’s religious life is still very vigorous,
much of the earnest ethical quality implanted in the social life of India by Mahatma Gandhi have been
lost *, has an error?

(@) Though India’s religious life is still very vigorous

(b) much of the earnest ethical quality implanted in the social life of India by Mahatma Gandhi

(c) have been lost

(d) no error

13.
Which one of the following parts of the sentence ‘Throughout the world the speed of change grows
faster, and two opposed trends make themselves felt in increasing force ’, has an error?

(@) Throughout the world the speed of change grows faster

(b) and two opposed trends

(c) make themselves felt in increasing force

(d) no error

14,
Which one of the following parts of the sentence *The Upanishads are not a philosophy, if we mean by
the word philosophy a reasoned account or a rationalization of experiences’, has an error?

(@) The Upanishads are not a philosophy

(b) if we mean by the word philosophy a reasoned account

(c) or arationalization of experiences

(d) no error

15.
Which one of the following parts of the sentence ‘A civilization may be known by it’s ideals and
means by which these are sought to be realized’, has an error?

(@) A civilization may be known

(b) by it’s ideals and means

(c) by which these are sought to be realized

(d) no error

16.
Rearrange the parts of the jumbled sentence ‘and shortcomings (P) India’s social equality, its virtues
(Q) lies not in any prudent decisions by men (R) but in the traditional concept of ‘Raja’ and “Praja’
(S)’ to make it meaningful:

(@) PRQS

(b) SPRQ

(c) QPRS

(d) QRPS



17.
Rearrange the parts of the jumbled sentence ‘racial, linguistic and cultural (P) heterogeneous
population of India (Q), that make up the (R) music in India is a reflection of diverse elements; (S)’ to
make it meaningful:

(@) QRPS

(b) SPRQ

(c) QPRS

(d) QSRP

18.
Rearrange the parts of the jumbled sentence ‘texts were imparted by God Brahma (P) down from one
generation to another with time (Q) to sages in the oral forms and they have been handed (R)
according to Hindu tradition, the Vedic (S)’ to make it meaningful:

(@ SPRQ

(b) SRQP

(c) QSRP

(d) PQRS

19.
Rearrange the parts of the jumbled sentence ‘but the Portuguese has been perversely misunderstood
(P) at the turn of the 15" century two invaders approached (Q) both initiated lasting contributions; the
Mughal has been appreciated (R) India: the Portuguese by the sea and the Mughals by road (S)’ to
make it meaningful:

(@) RSPQ

(b) QRPS

(c) QSRP

(d) PSQR
20.
Rearrange the parts of the jumbled sentence ‘and | understand that no statement can be more
inaccurate (P) nothing is more misleading than a half-truth (Q) old adage about the East and West
never meeting (R) and it would be hard to find more apposite illustration of this than the (S)’ to make
it meaningful:

(@) QPRS

(b) PRSQ

(c) SQRP

(d) QSRP



21.
‘Project Loon’, an initiative to provide internet connectivity using balloons is operated by:
(@) Google.
(b) Airtel.
(c) Facebook.
(d) BSNL.

TeaR o FINT F $AC STl ST I Sl Ueh Ygel, “WoieFe 1", I IR fohdh
GaT fohaT ST & 2

(a) ILaTel

(b) TR

(c) PEH
(d) BSNL

22.
Which one of the following statements regarding Sovereign Gold Bond Scheme 2015 is NOT correct?
(@) They can be used as collateral for loan
(b) They can be sold or purchased on stock exchanges
(c) They can be purchased by Indian individuals only
(d) They are issued by the Reserve Bank of India

il Mes dics ThIA 2015 & IR H [Feafof@d sy« & O i a1 v gar 777 ¢ 2
(a) S<ThT FOT & foIT ARG & T & 3TANT fHAT ST bl &
(b) 3o I STSIRT H AT IT WIET ST HBAT &
(C) S had HRAT ITFAIT GaRT &1 TWAST AT HhelT §
(d) 3o AR RSTT S garT SRy T Sirar g

23.
Which one of the following is the name of the Mascot of the 12" South Asian Games, 2016?
(@) Ezomon
(b) Tikhor
(c) Rangmon
(d) Sundar

fAe=tff@d & & Slet @1 Ueh, 124 gfaTor vRIATS Wedl, 2016, & YBTRT HT AH & 2
(2) TS
(b) fo@r
(c) AT
(d) FeX



24.
Which one of the following statements regarding Kotikalapudi Venkata Krishna Rao is correct?
(a) He was not a Chief of the Indian Army
(b) He did not participate in the Indo-Pakistan War of 1971
(c) He was not a Governor of Karnataka
(d) He was not decorated with Param Vishisht Seva Medal

HITCHATYSS dehe 0T I & aR H AFATATT HUAT H § T T Teh L8 2
(2) ¥ HRAT AT o GG gl A
(b) 37giet 1971 o HRA-UTThET Tg # 19T ST foram o
(c) d FeATeh & TaTIT A8l &
(d) 3o¢ TR TARISC AT AT & 3clehel T TehaT aTT AT

25.
Angelique Kerber, the winner of Australian Open Title for Tennis in the Women’s Singles for the year
2016, is from:

(@) Australia.

(b) Germany.

(c) USA.

(d) Canada.

¥ 2016 & ST & TETIATS 3T SISl bl ATZlT Tehol faTdT UoTolleh sh3TeR fohd SAU HT g 2
(a) 3megferar
(b) STH=AY
(c) USA
(d) TSt

26.
Naresh Bedi, who was conferred with V. Shantaram Life Time Achievement Award at Mumbai
International Film Festival recently, is a:

(@) Commercial Film maker.

(b) Wildlife documentary maker.

(c) Sports documentary maker.

(d) Video journalist.

A 33, oo Tl 81 31 7S IaSEI e Aglcwd 3 Y. ATANTH ATsherss Jiaec 3ars ¥
AT T IT, FaT 8 ?

(a) =TT e fAaTar

(OEREICCESICERGEICH

(c) Vel FedTa foraTar

(d) fAT TR




27.
Twelve nations signed the historic Trans-Pacific Partnership (TPP) Agreement in Auckland recently.
TPP is a free trade area and accounts for around 40% of global trade. Which one of the following is
NOT a party to it?

(a) Singapore

(b) China

(c) Japan

(d) Mexico

IRE TSE of Tl &1 H iehols & Ufagi@e cra-3TAfhe IIEeRiAT (TPP) FFSIT IR gEdieR e
| TPP Ueh el SR &1 ¢ 3N S8 faRd TTIR ol SIaT$HaT 40% AR Il ¢ | eifaf@a A &
el AT Ueh, SHAT TG T G2 787 ¢ ?

(a) FHaTR

(b) et

OREISIG

(d) AfFgesr

28.
The Headquarters of the Asian Infrastructure Investment Bank is located at:
(a) Beijing.
(b) Dhaka.
(c) Hyderabad.
(d) Thimphu.

TRIATS e faer o (TRITET SheaeR SaECHT dh) T HEATT gl HaTedd 82
(a) STSTaT
(b) @TepT
(c) BeTaTe
(d) Ty

29.
‘Mitra Shakti’ is a joint training exercise between Indian Army and:
(@ US Army.
(b) Chinese Army.
(c) Sri Lankan Army.
(d) Bangladesh Army.

AT e TR F=AT 3R o QAT o <y YT TIRAGTOT 3137 & 2
(a) US &=
OEGIEG
(c) Hoiehts Q=i
(d) SIS |



30.
‘Cobra Gold’, a multilateral amphibious military exercise is held every year in:
(a) Canada.
(b) Thailand.
(c) USA.
(d) Singapore.

@WWWWH}W‘WW’WW’MW%?
(@) shedTsT

ORIEEE
(c) USA
(d) IR

31.

Which one of the following has NOT been a factor that influenced the demand for New International
Economic Order (NIEO)?

(@) The need for transfer of technology to the developing countries

(b) Vast economic gap between North and South

(c) Economic crises of developed nations

(d) Failure of UNCTAD to prevent widening gap of rich and poor nations

=TT fad 7 & it AT U, AT JARTSEIT 3TTHF cgaxAT (NIEO) T HTeT I FHITAT et
qTell R 7a] & ?

(a) farrarefrer ot 1 dle T farehr o gxdiaRoT I 3TaeTehdr

(b) 3caR 3R gfeyor & drar faemer 3nfe iaRTe

(c) farad Irsel & 31T Hehe

(d) FHE 3 ToTeieT Toet o e S IeRTeT hY Aol 7 UNCTAD Y fathorelm

32.
With reference to ‘Look East Policy’ of India, which of the following statements is / are correct?

1. India wants to establish itself as an important regional player in the East Asian affairs

2. India wants to plug the vacuum created by the termination of Cold War

3. India wants to restore the historical and cultural ties with its neighbours in South East and East
Asia

Select the correct answer using the code given below:
(@ 1lonly
(b) 1and 3 only
(c) 2and 3 only
(d1,2and 3



R 1 O 31T Y (e S o) 3wt #, Prefarad et & F Fia wnay e a7

?

1. R T 1 Idi TRIATS ATHeI H HgcaquT &1 ${fHeRT ATl aTel TSE o &9 7 T
AT el &

2. R M Fg T AT & e Y Y AT ATEAT &

3. TR SiEIoT-gdt 3R el ThRram & 3rver usifaat & ary Afagifae iR aiepfds deut i
Qe AT AT ATE T &

oA feT e T IA9T T FeY ek AT
(a) dhdel 1
(b) hael 1 3iR 3
(c) haer 2 31X 3
d) 1,233

33.
Which one of the following portfolios was held by Dr. Rajendra Prasad in the Interim Government
formed in India in the year 1946?

(a) Defence

(b) External Affairs and Commonwealth Nations

(c) Food and Agriculture

(d) Human Resources

R H a¥ 1946 H Fei1 3aRH THR A 210 Toig wd1g & Ird fAeafaf@d &7 & it a1 ves fasmer
a1 ?

(a) T&Tr

(b) Tacel AT 3R TSgHS & TS

(c) TreF IR F

(d) ATAT AT

34.
Who among the following is generally acknowledged as the pioneer of local self-government in
modern India?

(@) Lord Ripon

(b) Lord Lytton

(c) Lord Mayo

(d) Lord Curzon



fAFfafed & @ 3mAaR R 6 3mefaes TR & TUTHAT T9-MHT T 3Ied AT ST g 2
(a) s Roet
(b) 7S foresT
CGIELE
(d) TS ofet

35.
Who among the following signed the Jammu and Kashmir’s Instrument of Accession with India?
(@) Hari Singh
(b) Sheikh Abdullah
(c) Karan Singh
(d) Afzal Beg

AT & O 5o 4R & QY FTFE-HHAR & AT g7 W gEdeR fFr a2
(2) R &8

(b) W 3fsgeeT
() ot g
(d) 31Tl a1

36.
Which one of the following Commissions was set up in pursuance of a definite provision under an
Avrticle of the Constitution of India?

(@) University Grant Commission

(b) National Human Rights Commission

(c) Election Commission

(d) Central Vigilance Commission

fArfaf@d & @ s a1 3T, (R & FAeeT & T 3geade & 3rElleT v ARYd 3uay &
3TTEROT & T FohaT I 27 2

(a) TaRafaeTerar 3tegeret 3mTaT

(b) ITSET ATAT TARR 3T

(c) AT 3T

(d) FET TcehdT 3TATIT

37.
Which one of the following is NOT a principle of Panchsheel?
(@) Non-Alignment
(b) Peaceful co-existence
(c) Mutual respect for each other’s territorial integrity and sovereignty
(d) Mutual non-interference in each other’s internal affairs



FeTfaf@d & & i a1 veh, gaeiier 51 Rgia 787 2
(a) Ie-fARaeTdr
(b) rfaquT wg-31Tedca
(c) Toh-gER T ACIETT WS IR FFAT o T IRETRP HEATA
(d) Tsh-g@HR & AT Reh ATHAT H IRET R IGETETT

38.
Which one of the following is NOT a principle of trading as laid down by the World Trade
Organization?

(@) Non-discrimination in trading practices

(b) Lowering trade barriers with negotiations

(c) Providing financial support to the countries having deficit balance of payments

(d) Discouraging unfair trade practices such as anti-dumping and export subsidies

AT & @ hiel AT Ueh, SR 7 [ SATIR TS+ SaRT IUTH ST Agial gl &2
(a) SR ggfadl 7 s 7 fHar sr=r
(b) SATIR ARt T IAATATIT GART FHH Fe]
(c) TITcATeT HcJoTel H ETE dTel SR1T T Tl TANIT YeTeT el
(d) wfc-uree (¥esaer) qur fFaTa agrider (Taeaie afeqsien S e ftd AR Feelet

Pl galcIgd Pl

39.
Which of the following is/are requirement(s) of a person for appointment as a Judge of the Supreme
Court of India?

1. Has been an advocate for at least fifteen years in a High Court
2. Has been a Judge of a High Court for five years
3. Is in the opinion of the President, a distinguished jurist

Select the correct answer using the code given below:
(@ 2and 3 only
(b) 3 only
(c) 2 only
(d) 1,2and 3



HR & 3TIUAH IR & AT & 9 & A & fod fondly caferd o1 fe=faf@a & @
FIT §ITT 3T &7

1. Ig fordY 3T I 1ol # A A A Ugg au! deh TATedT 8T &r
2. dg Thell 3T I ATerT H A A e UTd aNT deh ~ITATENA T&T 8l
3. g Tseufd T 7T H Ueh gRITd fAf&dedr &t

o & T o T ITANT F:Xeh Ael SR JAT:
(a) shaer 2 3R 3

(b) Shael 3

(c) hael 2

(d) 1,233

40.
Which one of the following Committees made recommendations for electoral reforms in India?
(@) Balwantrai Mehta Committee
(b) B P Jeevan Reddy Committee
(c) Asok Sen Committee
(d) L M Singhvi Committee

fArfafed @ @ fra v GfAfa @ TR 7 gt Gt & fordr geqioran & ot 2
OEGESHPERGIEIGIG]
OEIRIEICGEESRIEIN]
(c) 3720 O1 AT
(d) ver v fudy @fafa

41.
The Workers' Participation in Management fora introduced in Commercial and Service Sector
Organizations in public sector in the year 1977 are called:

(@) Shops Councils and Joint Management Councils.

(b) Unit Councils and Joint Councils.

(c) Shop Councils and Joint Councils.

(d) Joint Management Councils and Unit Councils.

ay 1977 # HIdslieleh &9 H ATUITeAeh T AT &7k HISe! H o] fehT 91T, FaEred AR
TEHTTINAT BIAT ol FAT gl ST g 2

(a) AT TRVE 3R AFFT TaereT TRES

(b) FohTS TS 3R Tger IRV

(c) AT TRVE 3R T TRwS

(d) EgeFcT FaereT aRwe R gehrs aRee




42,
Which one of the following statements with regard to genesis of different Workers’ Participation in
Management fora is correct?

(@) Formation of Joint Management Councils was statutory

(b) The first participative forum came into being after the First Five Year Plan

(c) A Scheme of Employees’ Participation in all Central Public Sector Undertakings was

introduced in the Year 1983
(d) The Participation of Workers in Management Bill was Introduced in the year 1989

faffeet Jatred HHIR AT BRAT ' 3cufed & IR # AFATATET FU=AT # & Sl @1 Th
e ?
(2) TYF TSI TRYET T ITST HiTd e AT
(b) IGAT TEHTTIAT PR TUH TAGY T JTSTeAT o d1G, 3 ecicd H 3T
(c) THT FEIT ATASTTeTh &1 SUhHAT H A ATRIT T AT T Teh ThIeT a¥ 1983 H IIRHA
r g
(d) TSTEreT SHTHIR FEHATTNT [a8geh ¥ 1989 H g€ foham aram

43.
Which one of the following statements about the Indian Labour Conference (ILC) is NOT correct?
(@) It was started in the year 1942
(b) Itis tripartite in nature
(c) It operates at the National Level with branches in every State
(d) A delegate to the ILC is authorized to bring two advisors who can participate in the discussions
only when the member delegate authorizes them and the Chairman gives permission

HRAT HTHS TFATA (ILC) F IR & afof@ad i A a sl ar v agr 787 & 2
(a) S Y 1942 3 31T fohaT araT
(b) e Fretr TawT FT Y
(c) TE TS TR TR I AT & 3R 3T @ TAsh TsT H §
(d) IL.C T Ueh YeTTgeFcl (SIIC) & HATGPRI ! Tt & TIT TITeIShel & i Shelel Tl & o777 of
Hehel 8, TE HeET el 3¢ TTTeehe] 3 A EALT 3¢ AT TaTed Y

44,
Right to Collective Bargaining is espoused by which one of the following convention number of the
International Labour Organization?

(@) Convention no. 144

(b) Convention no. 154

(c) Convention no. 98

(d) Convention no. 87



AHfES Flesprl #1 ISR, HARSET AffAw FIro &l [Fefai@d & & fha T weasred
T GaRT FATAT & 2

(a) Fea2lel TEIAT 144

(b) Feaelel TEIAT 154

(C) Fea2lel TEIAT 98

(d) Feaelel TEIT 87
45,
Which one of the following is NOT part of the recommendations of the Indian Labour Conference on
‘rationalization’?

(@) There should be no retrenchment or loss of earnings of the existing employees

(b) Workers could be provided with suitable alternative jobs in the same establishment or under

the same employer, subject to agreement between the employer and the workers

(c) There should be proper workload assessment by an expert
(d) There should be a restraint on recruitment

fAFfaf@d & @ @l A1 T, FFANHIOr (RAAATSARA) T HRAT HAS TR HT FAoriern
T AT gl & ?
() TAHTT FHHATRAT T IS T SeatT AT 31T T g1f AT aleil ATRT
(b) ToraTeraT 3R SHAaTRET o e regerer o 37efleT, SrAaTRET vl 38 TATIAT H T 38 fFgTerar
o 3T ST dehieTeh S IUCTSE HAT ST Hehell &
(c) Tordl TaRIvr=T gaRT HH I IR fAURoT o S =nfge
OEGIENEESIEIEIRY

46.
Which one of the following statements is NOT correct?
(@) The Labour Appellate Tribunal, which came into being in the year 1954 was abolished six
years later due to intense pressure from workers
(b) The Joint Consultative Board, which was set up in the year 1951 became defunct after the year
1962
(c) The National Apex Body, which was set up in the year 1975 was disbanded following the end
of emergency rule and formation of Janata Government
(d) There was no mention of Wage Boards in the recommendations of the Royal Commission on
Labour ( 1931)

AT ad Y=l 7 & it AT U, Tl o781 ¢ 2
(a) HfF® Tl 3THIOT, ST aY 1954 F 3T H T, FEIRT & T G & HROT g
ay §T¢ FHTCA o fear I ar
(b) EgeFcT TR &S, ST A 1951 H T foham a1am T, aY 1962 o aTe; A TSha g1 ara
(c) TSET MY TP (AT TIFH §13)) |, S a¥ 1975 7 TA1fT fRIAT 121 AT, 3T
QT T AT 3R FAdT TRFR F §oTa) & d1¢ HT Y &1 arr
(d) ¥TTeT HHIIT 3HloT Ha¢ (1931) T TAGIRRIT 7 FoTe SISt &7 1S 3o I8! AT




47,
Which one of the following can be called as ‘suicide pacts’ aimed at bearing short term pains for
anticipated long term gains?

(@) Productivity bargaining agreements

(b) Automation without tears agreements

(c) Enterprise level wage agreements

(d) Concession bargaining agreements

PAafaf@a & @ 59 v &, gcafaa Seraf® ot & T 3rcusels e 3o & J6T arell
HICHE AT HHSNAT ST ST Hhell & ?

(a) 3cUTGehAT BIGTHRRT HIX

(b) TadTeleT o 3MARTET IR

() 3eTH TR ATl TR

(d) Raraa Al R
48.
The tendency to fixate on initial information and fail to adequately adjust for subsequent information
that biases the decision-making is known as:

(a) Overconfidence bias.

(b) Anchoring bias.

(c) Confirmation bias.

(d) Availability bias.

AR e Faalr 9X AR g ST & 31 Seaadt g & fov gafed &0 @ gArRfSd e # fawe
TGt T Tgfeet it 0T & qaTargl STl 8, T Shgellell © ?

(a) rfafaears qafrs

(b) FERoT yaTarg

(c) gfSe gatarg

(d) 3T aTaIg

49,
The tendency to draw a general impression about an individual on the basis of a single characteristic is
called:

(a) Selective perception.

(b) Contrast effect.

(c) Halo effect.

(d) Stereotyping.



THATT AT & ITUR W el eafFd & TR A HIg AT TF a1 ofel A Tdfed &1
hgellcll § ?

() TIATcHS JcI&ToT

(b) AYFT THTT

(C) THTHSS THTT

(d) FEEUROT ST

50.
Which of the following are methods to achieve “strategic fit’?

1. Fine tuning the organization’s capabilities and resources to the opportunities available in the
external environment

2. Closing interface with threats and challenges of the external environment

3. Aligning one area of strategy, eg., human resource management with the Business Strategy

4. Ensuring mutual support between different strategic areas

Select the correct answer using the code given below:
(@) 1and3only
(b) 3and 4 only
(c) 1,3and 4
(d)2and 4

T & @ st &Y, AU Sugerddr (FeToTeh fthe)’ uTed el &l ggicran & 2

1. STEY ATTaROT H SUCIS AERT o 7ol HITSeT hi &THTAN 3N HEATEr=AT hl
R
2. STEY ATCITaROT Y 3TRIRIAT 3R FATIIT & T IARTYSS I e; el
3. HRANTA & Teh &7, 3STeI0NY, AlTd HATHT Tt ol SATIR hRI I & a1
HIGUT HeAT
4. Taffe= SR e &1l o o IRETRe AT GiATRE e

oA feT e T YT Y AeT 3ccR AT
() haer 1 31X 3
(b) Fhaer 3 3R 4
(c)1,334
(d) 2 3T 4



51.
The human tendency that seems to be arrogant, has a grandiose sense of self-importance, requires
excessive admiration, and has a sense of entitlement, is known as:

(@) Machiavellianism.

(b) Narcissism.

(c) Self-monitoring.

(d) Risk-taking.

SHYFA Gl Bt Aol 38 AlAT Gdfedd Y, FaH ITcA-Aged a1 3nsaqo’ aer fAfge g 2,
31T feien IRIAT T 38T gl & 3R gadr o a1y [AfgT giar g, FaT g 6 2

(a) AfhaTdearG

(b) 3TcARTa

(c) ¥a-31eI3auT

(d) ST 37T

52.
When a person is aggressively involved in a chronic, incessant struggle to achieve more and more in
less and less time, and, if required to do so, against the opposing efforts of other things or other people,
the personality is known as:

(@) Positive personality.

(b) Proactive personality.

(c) High-flying personality.

(d) Type A personality.

9 1S Afad FH T FF T F 310 T 318 ured == & AT, 3R 3fe sg v var swar
3rafard g1, qudt el a1 gER safFadt & Al sae & o, Srdemferes, 3tatd 3R Joqde
oI EHT 8, 1 3 T fFeled T T hgdl g2

(a) HPRIcHSb cTfFcdcd

(b) 37Irereft eafFdca

(c) Agcarepiel eafedca

(d) 9T A TfFdcd

53.
Which one of the following statements about Organizational Citizenship Behaviour (OCB) is NOT
correct?
(@) Itis an individual behaviour that is discretionary and yet, promotes effective functioning of the
organization
(b) It has two dimensions namely OCB-Individual and OCB-Organizational having five elements
of Altruism, Courtesy, Conscientiousness, Civic Virtue and Sportsmanship
(c) Extra Role Behaviour (ERB) is unrelated to the domain of OCB
(d) Whistle blowing and principled organizational dissent were not included in the original concept
of OCB



AT i ARTRSGAT eId8R (OCB) & IR H oAt T =il 7 & it AT Ueh Tal o7a1 672
(2) TE Teh cATSCUReh eYAGR & ST [AehTelleT &, TUTTY HITSeT oh THTAT &l 3l HatleT hlcll o
(b) S &Y 3ATH, ATHT:;, OCB-eATeI 3N OCB-HeTsHS § foletdl qRIdwdr, Hisiey,
AR, AR HeI[OT 3R YT, Jqadca §
(c) 3rfaRerd s1fAeT cTaeR (ERB), OCB & c¥agR-&17 ¥ 3T &
(d) OCB &I #HeT HehoUsdl H eIl e I IR i (e seligan) 3R uweg
SIEUT-Hatll 3rag AT eMfAeT 78T &

54,
Which one of the following statements about Albert Bandura’s Social Learning Theory is NOT
correct?

(@) Itis also known as self-efficacy and social cognitive theory

(b) Pygmalion effect and Galatea effect have hardly any relevance for self-efficacy

(c) Self-efficacy is an individual’s belief that he or she is capable of performing a task

(d) Enactive mastery, Vicarious modelling, Verbal persuation and Arousal are the methods of

Social Efficacy

3fae F5g & AT 31T Rgia & IR 7 e=faf@d 7 @ wier a1 v uet wé 737 § 2
(a) B 3MMcH-ETHAT 3R ATHTTSSR HATACHSD [AGId o & Y ST ST &
(b) 3TTcH-8THAT & ToIT ReATaTsT warra 31K raifear yama $ir amae & s yrafPerar g
(c) ITcH-&THT fohdr caferd 1 g farara g for ag foha v o osdTesT & @ g
(d) 3Tg-fagorar, wfaeurfaes gfasaor, sf¥e 3ef-a 3R #7a Jees QrATfSIh &1 6
gefaar &
55.
Interactional justice under equity theory of motivation is:
(@) perceived fairness of the amount and allocation of rewards among individuals.
(b) perceived fairness of the process used to determine the distribution of rewards.

(c) perceived degree to which an individual is treated with dignity, concern and respect.
(d) perceived fairness of the outcome of the system.

31fAORoT & G RAga & 3 s fnarcas s Far g 2
(a) eATFAAT & o wfawalt Fr AT 3R A F1 gaafaa itk
(b) Sfcitell T sieeT AR et o TrT gt Tisham 1 Seaferd ey
(c) g8 gafad 312, foas ao fhdy safFa & @ aIR&Er, IUer 3R 31meT & a1y s¥dagR
RaTSITar g
(d) STTEAT & IROMH T T ITaTd ASTeTdr



56.
Which one of the following statements about Social Work is NOT correct?
(@) Itis an enabling process
(b) The steps involved in Social Work are Study, Diagnosis and Treatment
(c) The “client-social worker’ relationship is a lifelong relationship
(d) The Social Work process cuts across individual, group and community

TATA-PY & TR F AT FUAT 7 & PieT 7 U, TET Al 6 ?
(2) TE TH TALHR UHAT &
(b) FATH-FT H [Afed Fea §- 37eaa, Fee 3R 39ar
() *Tarf-GHATFHHT T ATolaed e gar e
(d) FHTST-E Gishar cafed, THg 3R THET A gl Toicll §

57.
Which one of the following principles of labour welfare seeks ‘the agreement and participation in the
formulation and implementation of labour welfare’?

(@) Principle of Coordination or Integration

(b) Principle of Association

(c) Principle of Accountability

(d) Principle of Self-help

H5fHe Fearor & Fafafad Rgiarl # & &l a1 v, “sffs FHeamor & Awger 3R srfeagd 7
HEAT 3R FHTTAAT ol Yol AT & 2
(a) TH=aY 3R ThieoT &1 [Agid
(b) T T f&giad
() 3cieIdcd &l AgTd
(d) FaTaeiesT & fagia
58.
In relation to labour welfare programmes, what is common to New Lanark Experiments of Robert
Owen; “Saltaire’ of Titus Salt; and the Francis Cabot’s and Cadbury Brothers’ efforts?
(@) They are initiated by employers after the Government’s directions in early period of
industrialization in different countries
(b) They are initiated by the employers in different countries in a laissez-faire Government policy
(c) They are initiated by the philanthropic efforts of affluent people of the society through co-

operative efforts
(d) They are initiated by the union efforts



HTA HeATUT FHRIGHAT & TG H, TGE AT & 7 olleleh TANN; TSCH Hioe & “Hleed!'; R
ST Shere 31X Shgarll sIEf3it o YTt & &1 FHTAAT & 2
(a) 3o¢ faffiest G2 & ATt gany, 3icareNeor & IRAS FHa H TWEHR & el &
T IRH fhar sar g
(b) 3¢ TafFeet St A TAANFATIHT GaRT, EXHRY IHEEAEIT A H IR fohar T g
() 3v¢ FHATS & FHUee o191l o TWRITPRT Fcall SR, TghRT TATAT & HETH & TR foham
IATE
(d) 3¢ HY & Yol GaRT IR fohar T g

59.
Which one of the following statements about the Labour Welfare Measures in India is NOT correct?
(@) There are statutory and non-statutory welfare measures
(b) There are extra-mural and intra-mural welfare provisions indicating those provided outside the
precincts and inside the precincts of an organization respectively
(c) Statutory provisions are largely provided within the precincts of the organization
(d) There is no legislative measure to provide extra-mural welfare facilities like housing,
recreational and education for children of workers

IR & HTHS FoIT0T 3UTAT & IR H AT fad HUaAT H J i 91 U TgT a7 6 2
(a) 3oTH, TifaT® 3R r@fafie Heamor3aT &
(b) Z79F STl 3R N Fearur cyaEATy ¥, St HEL FE GerosT d g@AT F e} 3R
THTAT & 37T 3UcTsY T ITT 3TTIT T ST &
(c) wifaftre 3uatr HEga: fohdT HarasT i STEIAT & 31T ST FIT ST &
(d) SEH STE HoAToT FIALTY, SH4- HTATH, HeAolel AR HIAIRT & sreat & T RIT 3ucrstr
F F o 71 denfas sura A8t &

60.
Which one of the following statements about Quality Circle is NOT correct?
(@) Quality Circle is a small group of specially trained employees from a work area who meet at
least once a week to discuss work related problems
(b) It was first introduced in India in the Bharat Electronics Limited
(c) Fish-bone analysis, Pareto diagram, Statistical presentation are tools of Quality Circles
(d) It uses brain storming exercises as a method of identifying problems and their diagnosis and
solutions



AT =il H & el AT Ueh, IUTdcdl Jool (FATTAET Hehel) & TR H TET g7 ¢ ?
(2) T[OTdcAT god, TR 1Y &7 o 9 &0 & GiRITETT fohd) I 3o7 haAwn Rl T Ueh BleT Tofg
g, S 1y Faely THEAN3T WX AR et & o edig & & O 37 T IR Aad &
(b) IR H Ugell IR 3H $IRd Solaciaiey foffes 7 3R fFar sr ar
(c) Toher-ateT faRelooT, TReT 3R, HIfEFhIT FEJcHehIOT UTd el dool o AL &
(d) SHH THTIT3IT Dl IgdTelel dUT 3oToh [elGlel AR FATYTAT ehl Teh TG o 39 H fGaR-AY=T
(ST TTTHT) 39T T FAT fohaT ST &

61.
The ability to combine ideas in a unique way or to make unusual association between ideas is known
as:

(@) Creativity.

(b) Innovation.

(c) Alteration.

(d) Diversity.

TaRT @1 Toh 377ud ale @ FATSIT A 31T faart # Teh RO Hae AT aeer d
AT I FAT Fgd & ?

(a) FTATcHAT

OEEEERD

(c) WR-gge

(d) fTafaerar

62.
In case of the components of attitudes, the emotional or feeling segment of an attitude is known as:
(@) cognitive component.
(b) affective component.
(c) behavioural component.
(d) job component.

HfAgfeaal & aeahl & AT H, fordt 3ifAgicd & TAMeA 3rar 31731 WUS I FAT FHgl STl
g7

(a) HATTcHS TCh

(b) HATATcH Uceh

(C) cIdgRIcHS Ycah

(d) T e



63.
The continuous process of identifying, measuring and developing the performance of individuals and
teams and aligning their performance with the organization’s goals is known as:

(@) performance monitoring.

(b) performance appraisal.

(c) performance management.

(d) performance analysis.

afFddl AR gelt & fAsuTe a1 ggaretsd, A9 3R TR fAd et aUT 37k [ASUIGe T TS
&N oh AT TIGUT el Sl Add FTh T i FAT gl ST & ?

(a) farsurget afiidator

(b) fersurest Hearenst

(c) fAsure yatre

(d) fasuree fagersor

64.
The conceptual understanding and cognitive skills of key-members in an organization is captured by
which form of knowledge?

(a) Embedded knowledge

(b) Encultured knowledge

(c) Embodied knowledge

(d) Embraced knowledge

fordlt ot A YW ATl T HeheTadlcHs THAS 3R TATATcHS HIRTAT T FIEUT, AT & fohet
9 garT fhar Srar g ?
(a) TR (THas3) AT
(b) TERTATLIT AT
() TieaATase AT
(d) gaTfaSE AT
65.
‘Repertory grid’ is used in:
(@) behavioural competency analysis.
(b) knowledge management.

(c) talent management.
(d) skills analysis.

‘HTVT-83R SiTeres (R 3rs)” o wer foras fopam Sirar & 2
(a) STTERIh HETAAT [agereor
(b) T FeereT
(c) UTIHT TaeraT
(d) ierer fageryor



66.
Which one of the following is the correct sequence of group development?
(@) Storming-Forming-Norming-Performing
(b) Norming-Forming-Performing- Storming
(c) Forming-Storming-Norming-Performing
(d) Performing-Norming-Forming-Storming

fAefafad 7 & Sl a1, Ty fashrT 1 Tel e & 2
(a) TEVOT (TCTTaT) — fAHATOT (BIfEeT) — JEaaT (ATfFT) - fAsuresT (Rwpifaar)
(b) TFHAAT (FATTH3T) — TAATOT (BITH) - fASuTEeT (RPITHT) - FENOT (FTTHT)
(c) TAATOT (BITHT) - TEYUT (FSITHIT) - THHAT (ATT3T) - TTSATEA (TRBITHT)
(d) TA~ITEsT (GRWITERT) - AT (ATTHT) - FAATOT (WIfeaT) - FEgor (Ferfea)

67.
How does merit pay differ from a bonus?
(@) Merit pay represents a continuous increment, but bonus is a one-time payment
(b) Bonus becomes part of an employee’s basic pay, but merit pay does not
(c) Merit pay is linked to individual performance, while a bonus is linked to group productivity.
(d) Bonus is linked to individual performance, while merit pay is linked to profits

AT TR dced, T A fohd IR HeeT § 2
(a) AT IR T HTaR Ih T AT FAT &, ] Ner Tahay STt &
(b) ST Rl A o ot dcieT 1 BT 1 ST B, fhe] Aazrar 3menfa Aefet et sreta
() JIFAT ITENRA AT ATFAIT TASTTET A ST &, ST o dleTq g ScUTeehell d 3T &
(d) SToTE STTFIIC TASUIe & 3T 8, STaifeh AT TR deiel ot & Ss1 8

68.
‘Rewards or punishments (Carrots and Sticks) serve as means of ensuring that people behave or act in
desired ways’ is the summary of:

(@) equity theory of motivation.

(b) goal theory of motivation.

(c) two-factor model of motivation.

(d) instrumentality theory of motivation.

"EHR IT GUS (hieH WUs &) Ig GiATRud it & AL & & H R oid ¢ fob oler aifesed
Tl & STgER 37UAT R A, Tg fFThT TR g ?

(a) 3FAOROT &1 AT RAgid

(b) 3TFAOROT &7 T8 fAgia

(c) 31TUROT T &F 3UTSIT Aisel

(d) 37TIROT 7 TR (SEgaieford)) fgia



69.
Which one of the following is NOT a ‘big five’ personality dimension as propounded by Deary and
Matthews?

(@) Introversion

(b) Agreeableness

(c) Conscientiousness

(d) Neuroticism

fArAfaf@d & @ e a1 ve, 38BN Ay canr wfawfed &3 o (f9er wiga) safedc
A H A a7gle ?

(a) 3@

(b) TEgATaTar

(c) 3idtadeefiierar

(d) AT

70.
Which of the following statements about organizational learning are correct?

1. Organizational learning can be characterized as an intricate three stage process consisting of
knowledge acquisition, dissemination and shared implementation

2. Single-loop learning is sequential, incremental and focused on issues and opportunities that are
within the scope of organization’s activities

3. Double loop learning occurs when the external environment imposes new challenges

4. Double loop learning does not question why the problem occurred and does not tackle its root
causes

Select the correct answer using the code given below:
(@ 1,2and 4
(b) 1 and 2 only
(c) 3and 4
(d) 1,2and 3

HISATcHS TTH & TR & P fai@d H A FT T FUT &8 ?

1. HITSATcH ITUIH I, AT 3ToteT, AR 3R AT SrAlcadsT Sl Teh Siicol
el ufshar & o0 # faQiiiend foham o g &

2. Tehol-ofd JITUTH, 3TTeTshiHeh, HTHTET IR HITSeT oh Hrdeheld &l TR & HcTeTd
3o arer 7 R et o) HRd gar g

3. &l ofd JHTETH T gl & ST STed YRA 72 ot ar feRITT I g

4. 2 [T JHTRITH S8 TR I el ISTA b FHEAT 4t g5 3R 38 HeT FROM Y
el FoAgdr




AT fe2 a1 e T T R HET 3eck Gev
() 1,234
(b) Shael 1 3R 2
(c)33iR4
d) 1,233

71.

What is X in the following table?

16 13 14 15
18 12 10 20
29 16 15 X
(@ 15
(b) 30
(c) 45
(d) 60
AT & oS GRofT A X Fard 2
16 13 14 15
18 12 10 20
29 16 15 X
(@ 15
(b) 30
(c) 45
(d) 60
72.

If a house is called boat, a boat is called car, a car is called lion, a lion is called deer, and a deer is
called water, then we drive:

(@) lion.

(b) car.

(c) water.

(d) boat.



g G T ATT F8T AT, 1d T hR T T, FR AT Qg FHaT AT, {88 Fi 8T a1 AT, 3R B
T UT=iT gl ST, AT g FAT 38T A & 2

(a) g

(b) FR

(c) dr=ir

(d) =Tt

73.
Which one of the following is the third word in order of their appearance in an English dictionary?
(@) Dictum
(b) Dictate
(c) Dictionary
(d) Dictation

TAeAT e & & leT &1 Ueh, TRal 3G Qregehrer H SoTeh 3Tl o 3TeTshd H, IERT 2ec & 2
(@) Dictum
(b) Dictate
(c) Dictionary
(d) Dictation

74.
Which one of the following is the 6™ term in the sequence 2, 9, 28, 65, 126, ----?
(@) 170
(b) 197
(c) 217
(d) 226

oA & & hleT @7 Ueh, 31eThe 2, 9, 28, 65, 126, H BT UG & ?
(a) 170
(b) 197
(c) 217
(d) 226

75.
There are twenty people working in an office. The first group of five works between 8:00 AM and
2:00 PM, the second group of ten works between 10:00 AM and 4:00 PM and the third group of five
works between 12:00 noon and 6:00 PM. There are three computers in the office which all employees
frequently use. During which hours the computers are likely to be used most?

(@) 1:00 PM to 3:00 PM

(b) 12:00 noon to 2:00 PM

(c) 2:00 PM to 4:00 PM

(d) 10:00 AM to 3:00 PM



fordll shriTery # i Afed RN § | 9Ie STl i gl Hig Jarest 8:00 sof 31 3rrest
2:00 Tt & &<l 1 AT &, GH ST T GAIU FHE JaTeeT 10:00 Fo¥ 3 3R 4:00 Tt
ST R AT § 3R Ol el &1 Rt §Hg ALATES 12:00 S 3R 370RTE 6:00 o1 & o
R FAT § | TR H ofied Hege § fotetehl Hﬁm@wwglmma?
o e T HaTfe 3uA1eT gl HaTfad & 2

(a) 3TIRTE 1:00 ot | 3TARTET 3:00 I deh

(b) FEATE 12:00 §1 & JRTEA 2:00 §1 Ik

(C) 3TIRTE 2:00 ot | 3TIRTET 4:00 I deh

(d) gaTEsT 10:00 St ¥ 3TIEA 3:00 &1 e

76.
A set X consists of twenty distinct exponents of 3. Suppose Y consists of all positive integers each of
which can be expressed as a difference of two integers belonging to X. Then what is the number of
integers Y contains?

(@) 190

(b) 210

(c) 380

(d) 400

IS FHTUI X, 3 & ITelaT-37elaT §IH Tciohl I 8ol X A1 § | HIeT oNfIT, Y 3e7 Fail &rf quiient &
e Y 917 & fHaT @ Tcdeh Y X & &) qUiTehl o 3R & §9 H oFFd [hIT ST FehlT & 1 Y, Y A
qUTTeRt <l HEAT FATE ?

(a) 190

(b) 210

(c) 380

(d) 400

77.
Consider the following two number series:

7, 35 40, 240, 246, 1722, 1729
10, a, b, C, d, e, f

If the two number series have the same pattern, then which one of the following is the value of ‘d’?
(a) 332
(b) 330
(c) 335
(d) 336



A & 1S &) sEar AT 9w fgaR Hifaw

7, 35 40, 240, 246, 1722, 1729
10, a, b, C, d, e, f

gfe g1t gEar ST gaT yiasg Hr g, A Fafef@a A asla ar s, o sTAETE?
(a) 332
(b) 330
(c) 335
(d) 336

78.
If Pune is bigger than Jhansi, Sitapur is bigger than Chittor, Raigarh is not as big as Jhansi but is
bigger than Sitapur, then which one of the following is the smallest?

(@) Pune

(b) Chittor

(c) Jhansi

(d) Sitapur

I qot ATt & 937 8, TR Fiedls & 9378, 72976 ST foicf11 937 781 & foh TR A 3T,
ar eAfoaa & & Sl a1 v, Taa Blerg ?

() 9ot

(b) Fredls

(c) g

(d) FaTIT

79.
If Delhi is coded as 73541 and Calcutta is coded as 82589662, how will Calicut be coded?
(a) 8251896
(b) 8251889
(c) 8251869
(d) 8215896

gfe Delhi &Y 73541 & ®9 & shifsd forar =T § 31X Calcutta &Y 82589662 & &9 H hifsd fohaT ram

&, dr Calicut & forg &9 & Fifsa foram srwem 2

(a) 8251896
(b) 8251889
(c) 8251869
(d) 8215896



80.
Suppose two numbers are in ratio of 1:2. If 9 is added to both the numbers, their ratio changes to 3:5.
Which one of the following is the greater number?

@ 9

(b) 18

(c) 27

(d) 36

AT NTAT & HEITC 1:2 o 3equrad & § | Ffe el Tean3it # 9 SisT ST, A 3eTeht 3He]dTd Seo

FT 35T ATAT & | AFATAET F J i TY I3 aTell FEATE ?
@ 9
(b) 18
(c) 27
(d) 36

81.
A person goes 4 km to his south, and then goes 10 km to the east, 15 km to the north, 12 km to the
east, 17 km to the south and finally 30 km to the west. What is the shortest distance between his
starting position and final position?

(@ 10 km

(b) 20 km

(c) 25 km

(d) 22 km

IS ehiebel YT TATT A 4 km STRTOT hT HIX ST &, TT 10 km G T 3 1T &, T 15 km 3ok
T 3T, 12 km G& T 3R, 17 km STETOT T 3 3N 37T 30 km TR &I 3R ST & | 38T

IR Ut 3R 3ifae Rl & dra i fraa g g 2
(@) 10 km
(b) 20 km
(c) 25 km
(d) 22 km

82.
Assuming that +15.29 = 3.91, what is the value of v1529 ++/.1529 ++/.001529 ?

(a) 39.5031
(b) 39.3501
(c) 39.5301
(d) 39.1053

AT NfAT o /15.29 = 3.91, A@T/1529 ++/.1529 ++/.001529 HT AT FAT§ ?

(a) 39.5031
(b) 39.3501
(c) 39.5301
(d) 39.1053



83.
E is the son of A. D is the son of B. E is married to C. C is B’s daughter. How is D related to E?
(a) Brother
(b) Uncle
(c) Father-in-law
(d) Brother-in-law

EAFIIIEID,BH YA IEF AAE CHAGIHTE IC, BH TG I AN D, ER T & ?
(a) 3%
(b) =TT
(c) RIHX
(d) ST

84.
What is the number of times we see the hour hand and minute hand of a clock coincident during 12:01
AM to 11:59 PM of the same day?

@ 21
(b) 22
(©) 23
(d) 24

forelt &t Y g 3R AeTe &1 ggar 346 fee qaee 12:01 Sof @ 3RIE 11:59 ot & oI fahear
IR A 2

(a) 21
(b) 22
(©) 23
(d) 24

85.

Consider the following sequence:

DGK GKP  ------ PVC

Which one of the following will come in the blank space?
(@) GKV
(b) KPV
(c) PVZ

(d) KPU



AT feT 1T 3eTeh W faaR hifaie
DGK GKP ------ PVC

AT T & & &l A7 Uah, Rerd TATT 9 30T 2
(a) GKV
(b) KPV
(c) PVZ
(d) KPU

86.
A boy takes 20 minutes to reach the school at an average speed of 12 km/hr. If he wants to reach the
school in 15 minutes, what must be his average speed?

(@) 15 km/hr

(b) 16 km/hr

(c) 17 km/hr

(d) 18 km/hr

ferElT sTeTeh T 12 km/hr T 3T TTel & fagTerar g o # 20 fAeTe @9rd & | 3 a7 15 Ase &

FreTery o aTEat §, o SHhT S =T T gl AR ¢ 2
(@) 15 km/hr
(b) 16 kmv/hr
(c) 17 km/hr
(d) 18 kmv/hr

87.
If a train crosses 10" station in 10 hours, how long will it take to cross 82" station if distance between
two consecutive stations is the same ? (Speed of the train is constant and stoppage time of train at
stations is negligible)

(@) 81 hours

(b) 82 hours

(c) 90 hours

(d) 72.9 hours

Ife FIg TAMET 109 TEUT T 10 B¢ H IR Xl 8, of 30 82d TR I IR Fel H Tohcdall THT
ST, A gT T T 3191 ATl T @ N FATA & ? (XeTmsy Y °rer A7 g 3R Tt ”
3% ol T GHY 19107 §)

(a) 81 €

(b) 82 ©

(c) 90 &C

(d) 72.9 G



88.

At an international dinner, 1/5 of the people attending were French men. If the number of French
women at the dinner was 2/3 times more than the number of French men, and there were no other
French people at the dinner, then what fractions of people at the dinner were NOT French?

(@) 1/5
(b) 2/5
(© 2/3
(d) 7115

fohall TS AT & LMA 91T 7 & 1/5 ST BT G897 & | fe 38 AT & enfAe
SHIEET ATGET3T shT T e oSt & 2/3 [+ 3ifteh o, 3R 37 Uit A g 37 wrefd
M TET A, A 3T TS 7 AT ant &t foraar fRear wiat e 777 & 2

(a) 1/5
(b) 2/5
(©) 213
(d) 7115
89.
Suppose, P, Q, R and S are consecutive months. If P, Q and S have equal number of days, then R has:
(@) 31 days.

(b) 28 or 29 days only.
(c) 30 days only.
(d) 28 or 29 or 30 days.

AT AT, P, Q, R 3R S hARTd 7l & | ITE P, Q 3R S H feat &hr a&ar g g, ar R & fohder
feeTd?

(a) 31 feT

(b) Fhael 28 AT 29 feaT

(c) shaer 30 f&aT

(d) 28 3T 29 7T 30 feT

90.
A family consisting of four members weighs 140 kg altogether. The father and the elder child together
weigh 80 kg. The mother and the elder child together weigh 70 kg. What is the difference of weights
of the two children?

(@) 5kg

(b) 10 kg

(c) 15kg

(d) 20 kg



IR AT & T GRAR FT, T3 Y AT X, IR 140 kg & | T 3R 93 5722 T F&HT ¢ HR 80

kg & | ATAT 3R 93 5= T fAeT X AR 70 kg & | ST STl & $TR & fhd=lr 37aX g 2
(@) 5kg
(b) 10 kg
(c) 15 kg
(d) 20 kg

91.
In Sun and other Stars, energy is released by:
(@) nuclear fission.
(b) nuclear fusion.
(c) gravitational force between the Sun and the Earth.
(d) Earth’s magnetism.

T 3R 317 AR # e HROT St fefard St § 2

(a) ATTHGIT fa@s=T
(b) ARSI FordeT
(c) T 3R gl & e aTecd1y ool

(d) 9T T deehea

92.
The bacterial decomposition of biological materials under aerobic condition is known as:
(@) fertilization.
(b) fermentation.
(c) composting.
(d) contamination.

aqﬁa%n%a{%ﬂ?rmqaiﬁwﬁqurq 3TECT FIT hgalar g ?
() 30T
(b) fhuast
(c) HUTEEEHIIT

(d) Fewor

93.
Which one of the following is the nearest atmospheric layer to the surface of the Earth?
(@) lonosphere
(b) Stratosphere
(c) Troposphere
(d) Mesophere



AT H @ et AT T, 2l Tl A fshedd agHSNT R & 2
(a) 3T FAST
(b) FHATT HSeT
(c) &freT Aol
(d) HEF HSoT

94,
Suppose a boy is standing at a distance of 2 m in front of a plane mirror. What would be the distance
between the boy and his image?

@ 1m

(b) 2m

() 3m

(d) 4m

I eNTSTT 1S oISehT Teh HHTS GUUT & HIHA 2 m 1 g T WS § | 38 oI5 3R 38 gfafea &
ST T gy &raT g ?

@ 1m

(b) 2m

() 3m

(d)4m

95.
The principle on which an electric bell works is based on which one of the following properties of
electric current?

(a) Heating effect of current

(b) Magnetic effect of current

(c) Electromagnetic induction

(d) Joule — Thomson effect

g Tagid, ' W #1S e 6él S el 8, [aegd a1 & fe=ioi@d & @ fhg Teh 07 1
ITaRA g ?

(a) ETRT 3T ATIA FoATT

(b) &R T JShrT JoTTd

(c) Toreget-fsehrer e

(d) STeT-UTHHT T

96.
IC chips used in computers are usually made of:
(@ Chromium.
(b) Lead.
(c) Silicon.
(d) Silver.



Y A YYF glat dlell IC T AT fhad = g & 2
(a) shifATH
(b) HTET (ef3)
(c) Taforeet
(d) =1

97.
The X-ray beam can be deflected:
(@) by a magnetic field only.
(b) by an electric field only.
(c) neither by a magnetic field nor by an electric field.
(d) by a magnetic field as well as by an electric field.

X-fehoT goT fehdreh caRT faeifie g1 Heher & 2
() Shdel YHIY &1 aRT
(b) Sarer facgd &r garT
(c) o @Y el &1 @RI, &Y fdegd &1 garl
(d) TYeTehTe &Y garT 3R Tl &7 ean.

98.
Changes that have taken place in the structures of different species of plants and animals over time in
response to their habitat are called:

(a) adaptations.

(b) habitation.

(c) variations.

(d) acclimatization.

APt greT 31k wofy snfaat Hr ==t & A %mﬂ-mﬂﬁmﬁmwy
gRade FAT g g ?

(@) e

(b) 3TTaTET

(c) IRadeT (ART=)

(d) TheTehoret



99.
Which of the following are likely to happen with increase in the levels of CO; in the atmosphere?

Appearance of new islands
Increase in acidity of sea water
Melting of polar ice caps

Mass extinction of living beings

N S

Select the correct answer using the code given below:
(@ land2
(b) 3and 4 only
(c) 2,3and 4
(d)land 4

AGHSH A CO, & TR A Ihg & TTY-TTY AT 7 F -0 glod1 Fenfac g 2

1. 57T &4l T Yehcel

2. HHG-STol Y 31FeTcll # Ifg

3. Iy St BT I Telel

4. Gfal T gl T A faelideT

o1 feT e T YT T HeT 3ccR AT
(a) 1312
(b) hael 3 3K 4
(c) 2,334
(d) 13T 4

100.
In human beings, the gas exchange takes place in:
(@) heart.
(b) alveoli.
(c) trachea.
(d) tronchus.

HoIsal &, A9 fafag gl giar g 2
(a) T
OELE
(C) AT
(d) Qg



101.

Lymph is an example of:
(@) muscular tissue.
(b) nervous tissue.
(c) epithelial tissue.
(d) connective tissue.

T fohdenT Ueh 3ET8I0T & ?
(a) 2 =+
OBIEEIEGED
(c) 3Yhell 3dsh
(d) G Fdh

102.
Which one of the following is an example of monocotyledonous plant?
(a) Paddy
(b) Gram
(c) Pea
(d) Neem

AT T & & T AT, TheloTI3! 16T T 3GTIEI0T § ?
(a) &reT
(b) =T
(c) AKX
(d) e

103.
Which one of the following statements correctly describes excretion?
(@) Itinvolves expelling of undigested food
(b) It involves removal of waste products of metabolism
(c) Itinvolves carrying of carbon dioxide in blood
(d) It involves release of energy from tissues

fFATaad HU=AT # T et TT Teh, 3cdolel T TEI-HeT JUT HIAT § 2
(a) $EH UTTIT WY T TTETHIUT &I &
(b) SEH 3UTTTY & IHUTASE 3cUTGT T AShTIET BT &
(c) SHH I&Fd H HIeT SIBHTFATSS T dgeT 81T &
(d) STH SR F FaiT f¥agara eIl &




104.
Which one of the following elements is a metalloid?
(@) Carbon
(b) Urea
(c) Radon
(d) Silicon

fAFfaf@d dedl & @ @l a1 v, 3T 8 2
(a) areeT
(b) TRAT
OREC)
ORGIRES]

105.
Which one of the following metals does NOT react either with water or with steam?
(@) Calcium
(b) Magnesium
(c) Zinc
(d) Lead

TR T3t & & it T Teh, STef 31T 3719 o A1 JTRTHAT Fgehcll 2
(a) o
(b) HeHTRITH
(c) & (fSieh)
(d) T (eT3)

106.
Which one of the following compounds has acidic hydrogen?
(@) Methane
(b) Ethylene
(c) Acetylene
(d) Chloroform

eIt it 7 & oha Teh & 31Fel1 g gISsIol aial & 2
(a) AT
(b) TR
(c) vEfeeN
(d) FARTPIE



107.
During the melting of a solid, its temperature:
(@) remains the same.
(b) gradually increases.
(c) gradually decreases.
(d) first decreases and then increases.

Rl 31 & ITeTeT & GRTeT 3HHT AT :
(3) AT T ST IEdT &
(b) R-eX FEaT ¥
(c) fR-¥R gearg
(d) gt TecT &, T dgar g

108.
Which one of the following is NOT a mixture?
(a) Lemonade
(b) Ice-cream
(c) Brass
(d) Cane sugar

Afaf@a & @ &l g/d) v, f&soT 7876 2
(a) HS
(b) 3TSTHIA
(c) e
(d) MeFhY

109.
Which one of the following is a compound?
(@) Mercury
(b) Chalk powder
(c) Air
(d) Brine water

PR & & Fia a1 o, A 2
(2) TR
(b) W =0T (2T W3
(c) ag
(d) STaoT e



110.
Which one of the following is a chemical change?
(@) Melting of ice
(b) Evaporation of water
(¢) Rusting of almirah
(d) Sublimation of camphor

frafafad # & Sia a1 ve, Taafas aRada § 2
(a) S T AT
(b) STof hT aTSUIHIoT
(c) ITART H 3T S3TAT

(d) 9T T SEAUTAT

111.
Which one of the following is INCORRECT with reference to advantages of magnetic storage?
(@) It possesses high data density
(b) Its rate of data transfer is low
(c) Its storage capacity is unlimited
(d) Itis very easy to transfer information from one place to another

GShTT T & ol1el & Tedl & Feafafed & 4 i a1 v ToreT ¢ 2
(a) SHH 3TT 3CT Uslcd BT &
(b) 38 3T AXUT FT &I TAFA glcT &
(c) ST HIIA &THAT AT &I &
(d) Teh TATeT @ GEX TUTeT H FI=AT T 3T 3T Bl &

112.
Which one of the following is NOT an example of Operating System?
(@) Windows 98
(b) Microsoft Office XP
(c) Red Hat Linux
(d) BSD Unix

=TT fad 7 & it A1 U, TR fBTes F1 3erevr 786 2
(a) TasIeT 98
(b) FATSHIATFE TR XP
(c) 3 ge foraaq
(d) BSD gfarerd



113.
Normally which of the following forms of communication should be used while making a reference to
Constitutional authorities like the Union Public Service Commission for routine matters?

(@) Letter

(b) Either Office Memorandum or Inter-Departmental Note

(c) Office Memorandum only

(d) Inter-Departmental Note only

Y dieh JaT AT ST Fifaefaes T St Hig AT HAfese Ha 9T Aeead; 93-
SIdER & fAFATalf@d # & fohd Ten &9 1 93197 foham Sirerr anfge 2

(@) 9T

(b) TT AT FIITAT ATIA, AT ATaHRENT feoqufy

(c) haeT FTATAT AT

(d) Shaer 3iafaemef feoqufy

114.
Which one of the following statements with regard to classified documents (other than confidential) is
NOT correct?

(@) Such papers are expected to be handled by the officers themselves

(b) Such papers can be handled in sections designated as ‘secret’ or ‘top secret’

(c) Every classified file has to be reviewed once in five years for reclassification

(d) On review, if a classified file is to be declassified, it must necessarily be destroyed

gatiehc GETASI (MNIAT & FeR) & aR H [AFATATET U1 H & hieT AT Ueh, HET @] o7
(a) UG HITS-TAT T IW-TWTG FTT ITRTRIT GaRT FohdT ST 3978 &
(b) VA HT-TAT T IG-IQTF 3eT TN H FHAT ST TehdT & ST I[C” AT “IRA e’
A AfCse §
(c) T aafiehc Wige H,W%ﬁ@ﬁﬁﬁﬁwmgﬂﬁw%mmm%
(d) GeRIETOT et W), Afe; TRl qafichel Wiger l 31-aafiene foharm ST g1, ot 38 e
7S¢ Y f&ar ST anfigw

115.
Which one of the following terms is NOT related to functioning of the Parliament of India?
(@) Prorogation
(b) Guillotine
(c) Zero Hour
(d) Abdication

frafaf@d ersal # & FiaT a1 v, 7R T TS, & Yhrd & Fafd 787 2
(a) HATIHTA
(b) Tarenfest
() [T ahTel
(d) ITTRIcTTeT (Ufesahar)



116.
Which of the following statements in regard to Office Memorandum as a form of communication is
NOT correct?

(@) Itis used by a department for corresponding with other departments

(b) It is used for obtaining information from or conveying information to its employees
(c) Itis required to be written in first person

(d) It bears no salutation

UF-SIdgR & Teh §9 H hRITAT AT o IR H R fai@d U=t & & &l 91 Ueh gy Tgi g ?
() TE Ueh TAIHTIT SaRT G 49197 & AL I7-5FqEN T GgercT gleil &
(b) TE 39 FAATRIT @ FAT YTecl A AT 3¢ AT S & TIT GFA BT &
(c) 38 9UH T2 A fa@r S g
(d) SHH IS HTAATGT AET GBI

117.
Which of the following statements is correct in regard to making a reference to the Attorney General
of India?

(a) Reference could be made by the Ministries/Departments with the approval of the Minister-

in-charge

(b) Reference can be made with the approval of the Secretary of the Department

(c) Permission of the Prime Minister is required for making any such reference

(d) Reference can be made only by the Ministry of Law and Justice

R & AGITIAIET T IS ATHT [ATESe it & R H I @T U=l H O T AT UH TeT &

?

(a) FHATETLT/FAHTTT S@RT, FHRY FHAT o eTAIG §, AHeN (A fese ham ST Hehar &
(b) TaeTmer & AT & eTAlesT & AFeT fAfese fohar ST AehaT &

(c) THT IS ATHET TS et & ToIw Tt 4 & 3e7Afd 3mfara &

(d) haer fafer 3R =T HA1eT a1 €1 1S ATHeT fAfse forar S ahar 8

118.
Which one of the following is NOT correct in relation to a Starred Question?
(@) Itis a Parliamentary Question which is answered orally on the floor of the House
(b) With reference to the reply given to a Starred Question, members are entitled to ask
supplementary questions
(c) The supplementary questions should be anticipated intelligently and *Note for Supplementaies’
should be prepared for use by the Minister
(d) “‘Action Taken’ report is required to be submitted to the Parliament in respect of all
Supplementary Questions



dRifehe weeT & Haer 7 et i@ 7 & wler a1 v w787 & 2
(a) T THE IR & TR 3ccd} el o Tl I A &9 § fgar ST g
(b) ARITeR 92T & 1T 91T ek & HGH A, HGET Th TR IO h §haN 81 &
(C) Yo R=AT T r&HACATIdeh aTeTATeT fhaT STl =g T 3R HAT & 3U2NT & T oqeh weait
& AT e’ ST ST Arfg
(d) T X Tt & TR A T IS Hars” Rl Te bl T i e 3aferd &

1109.
The Government of India (Transaction of Business) Rules do NOT specify the:
(a) authority, responsibility and obligations of each department in the matter of disposal of
business allotted to it.
(b) class of cases to be submitted to the President.
(c) type of cases to be referred to the Attorney General.
(d) circumstances in which inter-departmental consultation will be necessary before the final
decision is taken by a department.

T TR (H1F arer) Ta frd/free fafafése 77 a2
(a) UAF [AHFT &, 37 FEed FF F AU & AFS H, WHR, FcaRedea iR
TEIATT
(b) Trsgufel Y TEI T STt aTel AT hr A0
(c) FETITIATET T fATESe fhT STt aTel ATHAT T ThIT
(d) F aRFeafaar e, fonelt fasmer gan sifas oot fore Smet & qd, iafdsmeir aeree
AT ghem

120.
Which one of the following statements is correct?

(a) Attached and Subordinate Offices are established under an Act of the Parliament

(b) There is no difference between Statutory and Autonomous bodies

(c) There is no difference between Statutory and Constitutional Bodies

(d) Majority shares in the Public Sector Undertakings are held by the President or his nominees

ArTff@d sy A @ HlT T TH TE & 2

(a) Tereet R 3efieTey FTe™, Tae & Tz & e Tenfia e Sa &

(b) Tifafe 3R Taraed fAer, 37 g1t & S IS 37X AT gidT

(c) Tifafe 3R Tifgenfas Her, 51 g1t & & FIS 37X AdT gidT

(d) ATdSTfeien &1 3ThAT # TATET IR Isgafa T 38 ATfAd STl gaRT I AT
J




